EE 3340
Homework Problem #006

(a) Convert f(¢)=10sin(27t—60°) to the form f(t)=Acos(wt +6), where 6 is in radians.

fity= tosin (27t -c0°)
= Yo co>(2“)"6"a'a“”~>
: Vo cos (2mt-[1%50e°)
r \oces(ant - 2.62)
(b) Convert g(¢)=3sin(377¢+45°) to the form f (¢)= B cos(wr)+Csin(wr).
Aty = 3 5 (%3778 + 4g©)
2 (Scos45°) cos 31Tt ¢ (S35iad6°) sia 577

= 2.12 cos 3’77%— ¢ 2012 3'1‘}1 -s‘a'.,t

(c) A signal whose frequency is 60 Hz is given in polar (or phasor) form as H=20£40°.
Determine the corresponding time-domain representation, % (t) , for this signal.

2t (¢o) = 2117 ""Q/s
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